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1 AL 5 50 it BB SREFHE X | 51302%%kkkk%%0550 &5 510
2 X 4 5y 5S 63 BT AIEE 513020520 5 510
3 =R % 47 i S AJRAEIX | 51302%k%x5k5%%0550 3 410
4 R % 64 ik B AJRAEX | 5130280550 5 310
5 PR 5 58 ik B AJNHEX | 51302%skskkkk5£0550 5 310
6 I % 51 ik B AJRAEX | 51302skksks5%055X 5 510
7 X 5 56 it B ARJNAEX | 51302%5kkkkk0570 5 510
8 = % 60 ik B AJRAEX | 51302%kkk55%%055X & 410
9 BRAE % 51 ik B AEAEX | 51302%skkkk4%7733 F 410
10 BB 5§ 46 ik B SREBAEIX | 51302%%kk5k5%%0205 & 310
11 Bk LS 54 ik B MrAE X | 51302%skkkk5%0574 i 510
12 F ik % 53 i B Wi X | 51302skkkk6£0558 5 410
13 T 5’y 91 ik B SREBAEX | 51292%skkk5%%7145 5 410
14 T 5 24 ik B SREFAEX | 5117 2skkkkk65532 = 310
15 T © 52 it B SREBFEIX | 51300%kkskkkxx0626 5 510
16 HKH = 50 ik Bl HEIAEIX | 51302kt 358X 5 510
17 {1 % = 55 Xt B e EEART 51302555k 06 79 5 410
18 BN i 46 ik Bl SEERAE X | 51302%kskkkx%456X 5 410
19 X g ZE 5’8 52 SREE [AER R T 51302s%kkkkk160448 5 510
20 ¥ [E A % 60 BTl T ZRAEIX | 51302%%kkk5%%0055 & 510
21 1 2 5’4 89 ik B SEREEAEIX | 513020521 = 410
22 MRIEZ % 62 ik B SKEEHEIX | 51302%skskskskskk:0570 = 410
23 Bhk 4L 5 53 Xk EE IAERT | 51302s%kskssxx0451 i 310
24 RENE 3’8 48 Xk B KILA 51102sksksksksekk0949 & 410
25 JE )5 % 59 ik B SREBETIE | 51302550011 & 310
26 AR i % 34 BTl SREBAEIX | 51302%%kkk5%%0198 & 510
27 R % 69 ik HS AR 51302skkskskskkk(0557 5 620
28 &) B © 68 BTl AR 51302skskskskskokx0524 75 310
29 ¥ 15[ = 51 ik BB SEEEAEIX | 51300s%kkkk:£0675 &5 310
30 HE%E % 63 ik B SRERHEIX | 51302skkekokx0575 & 310
31 FERE 5’8 43 it B AJRAEIX | 51302:%kkkskekekek0529 5 510
32 fil & % % 58 ik B SKEFAEIX | 513023360013 = 310
33 [T % 56 ik HS SREBHEX | 51302555007 1 5 510
34 Bty Ei] 49 SKER [ =&l X | 51302skksksox:0017 5 410
35 [ 5 52 ik B HEHIH X | 51300%kskk55£0656 5 310
36 R EAE % 56 BTl AIEE 51302sk%kkk5%%0559 & 510
37 Tk Lt 5'q 38 SREE | SR X | 4418855445002 1 F 510
38 HAUE 5 51 Xk B KA 51302skskskskstekk00 12 5 310
39 R % 57 ik BB KHX | 51300%kkk055£0656 5 510
40 2 3 18 ik BE ARJRHEX | 51172skkkk8665993 5 510
41 w75 5’y 78 X B SARAT 51302skkskskokk 0462 5 510
42 JEERPY 3 59 ik BE ARJRHX | 51302skkkk6£0555 5 510
43 ZE[H R L 53 ik BB K HEX | 51300%kkkk06£0635 = 510
44 FEF B 36 it B SEERHE X | 51302%kskkkkx%055X 5 410
45 iz & 32 it B SREFHEX | 51302%%5555k%%0562 5 820
46 B A i 11 ik B SREFAE X | 51172%%588555962 5 310
47 E 5 i© 36 ik B SREEHEX | 51302sskskkksksk30060 5 410
48 FHE E:) 37 ik Bl SEERAE X | 51302%kskkkkxx0559 5 510
49 F % 32 ik B SEEFAEIX | 51302skskksks:£0555 &5 510
50 A3 © 48 BT SREBAEIX | 51302%%skk55%0521 & 510
51 Fa ik i© 63 ik BB SEREFAEIX | 51302skkskkkokk k6564 =5 310




52 LN 5’4 80 ik B SEEEAEIX | 51052skkkkk::5262 = 310
53 Z4 M & 82 ik B SREBFEX | 510526964 5 310
54 R 5’y 62 it BB SREFHE X | 51292%%kkkk%x8346 5 410
55 = ES 4 84 ik B SREBFEX | 51253455269 = 310
56 M 4@ 82 it BB SREFHE X | 51022%%skkkk%4343 &5 310
57 HOLHE 5S 81 ik B SREBAEIX | 51302%%kkk5%%0523 & 310
58 LA 5 24 ik B SREEHE X | 5117288888455 3% 5 510
59 X4 3’8 78 ik BE SKEFAEIX | 51052%kskskskkk%5386 5 410
60 TS K 5’y 62 pE SREBHEX. | 51302%%kk555%0526 5 410
61 |7 % 50 ik B SREBAEIX | 51302%%kkk5%%0195 & 410
62 2L % 59 pME JOEIR] | 51300%%skkxx0633 5 510
63 A % 56 BT T ZEFEX | 5130240033 5 410
64 K 5’y 48 ik HS SREBAEX | 51302%kks5%%4928 5 620
65 B 5 46 ik B SREFAE X | 51302%#kkekekekek0010 5 310
66 AR 5’y 50 ik B KILH 51302kt 0025 5 510
67 AR 5 54 ik B SREFAEX | 513028888007 X = 310
68 AR % 56 ik B KITA 51302%kkkk5%%0038 %5 310
69 MIEH i 45 ik B SREEAEX | 51300skkkkkk:0614 = 510
70 P 5’4 46 ik B SREEHE X | 51302sksksks0521 5 510
71 7K o x© 68 ik B SREBFEX | 513020522 5 310
72 KPR 4 83 WREE | BRBRAEIX | 51302skkkkickkx0527 i) 310
73 A LS 61 ik B SREBFEX | 513020558 5 410
74 24 L 73 ik B SEEFAEIX | 51302skkskskkokk:0559 = 310
75 ] © 51 ik B SREFAE X | 5130258kt 056X 5 310
76 F &1l % 21 ik B FBEAL 5117 2skkskskkkk5958 5 310
77 FEHURK 3’8 21 ik B SREBFEX | 51172845963 5 310
78 o N % 49 Xk B HEHIAE X | 51300%kkkkk4x061X & 930
79 T3 g ”© 42 ik B HEWH X | 51390s%kkkkkrk4542 5 310
80 5| A5FE % 10 Xk B HEHIAE X | 51172%%kkk:%%5958 & 310
81 B 4 84 ik B AR 51302sksksksksksekk 052X & 310
82 [ bines 5 55 ik B SEREBAEIX | 51300%kskkkk5%0634 = 510
83 A0 © 28 BTl SREBAEIX | 51302%%kk5k5%%0529 & 310
84 FE /N E:) 58 St HS KHAEX | 51300%kktokkk:0616 & 410
85 bl u 44 Xk L ML IX | 5130248364 75 410
86 etk 5 56 pME AT 51302skkskskkkk(06 18 & 410
87 HEE i 57 ik B SREAE X | 51302%s5skskskskk0446 5 410
88 L] 5 62 ik B SREEHEX | 51302s%skskkkksk:0570 5 410
89 TRAE X 56 ik B SREBAEIX | 51302%%skk54%0524 i 410
90 YRE 5’y 85 pME SREBAEX | 51302%skksk54%0522 5 410
91 T & 52 Xk B SREEHEX | 51302skkskk60548 5 410
92 e U % 23 ik B SEERAEIX | 51172%%%kk5%%5958 5 310
93 P o I 5 46 Xk B SREBFEX | 513020593 5 510
94 HIL R 5’y 38 ik HS SREBHEX | 51303450648 5 510
95 1y El 43 Sk B YEEEAE X | 51302s%kkskskkekk0197 & 510
96 LD 5’e 55 ik B SREEHE X | 51302skkkk:0208 5 1530
97 PN 3 32 Xk B SREEHEX | 51302skkkk£0193 5 310
98 T % 26 ik B SREEHEX | 5117 2%kskkkkk:5959 5 310
99 ] 5F 5 59 ik B KITH 513020016 5 310
100 =1% % 60 ik B K HAEX | 51300%kkk0638 5 410
101 & % 58 BT HEHIAEX | 51172%%kk5k5%%8979 & 310
102 15 SR LS 56 ik B HEHHE X | 51300%%kk55%%0619 5 410
103 REAIN % 52 ik B SKEEHEIX | 51300kt 1034 & 310
104 RS % 56 ik HR KX | 51300%k55444%0634 &5 410
105 K % 7 BT SREBAEIX | 51170%%kkk55%0094 & 620
106 ok % 5’4 20 ik B SEREFAEIX | 5117 2%kkkkkkx7303 =5 310




107 ENie S 5’4 39 ik B SEEEAEIX | 51302skkkkskk:0527 = 410
108 AR 5’8 45 BT SREBAEIX | 51302%kkkk4%%8382 = 620
109 ik 5 51 ik B SEREFAEIX | 51302skkskkkokkk 1714 = 310
110 FRARIT Ci] 15 ik B SREBFEX | 51172445951 & 510
111 SR L) 13 it BB SRERHE X | 51172%%kkkkk%5974 &5 310
112 IS 5’8 45 ik B SREBATIE | 51302%%kkk5%%0520 & 410
113 ke E] 5’y 43 SREE | = LXK [ 51292sksksektorx6321 5 310
114 b % 34 SRER | =S4k X | 51302skskekkek001 1 & 410
115 R4 5 59 SRER | = LXK [ 51302skkksekkxx0016 N 410




